

Page 1 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) A.E. ST	ONE, INC	(2) SOUTH S	STATE INC	(3) ARAWAK I	(3) ARAWAK PAVING CO INC	
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	N : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:		
0001	151006M	1.000	15,000.00000	15,000.00	15,000.00000	15,000.00	24,500.00000	24,500.00	
_	RMANCE BOND AND IT BOND	DOLL							
0004	153003P	(1)	1,500.00000	1,500.00	1,000.00000	1,000.00	500.00000	500.00	
PROGRE	ESS SCHEDULE	LS							
0005	153006P	3.000	500.00000	1,500.00	500.00000	1,500.00	100.00000	300.00	
PROGRE	ESS SCHEDULE UPD	DATE U							
0006	153012P	1,300.000	1.00000	1,300.00	0.01000	13.00	0.01000	13.00	
TRAINE	ES .	HOUR							
0007	154003P	(1)	232,922.20000	232,922.20	80,000.00000	80,000.00	200,000.00000	200,000.00	
MOBILIZ	ATION	LS							
0010	157004M	1.000	5,000.00000	5,000.00	100.00000	100.00	360.14000	360.14	
CONSTR	RUCTION LAYOUT	DOLL							



Page 2 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) A.E. ST	ONE, INC	(2) SOUTH	STATE INC	(3) ARAWAK PAVING CO INC	
	-	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY	Cat Alt Set:		Cat Alt Member:			
0014	159003M	25.000	250.00000	6,250.00	0.01000	0.25	0.01000	0.25
BREAKA	WAY BARRICADE	U						
0015	159006M	80.000	0.01000	0.80	0.01000	0.80	0.01000	0.80
DRUM		U						
0016	159009M	200.000	0.01000	2.00	0.01000	2.00	0.01000	2.00
TRAFFIC	CONE	U						
0017	159012M	1,210.000	9.00000	10,890.00	0.01000	12.10	0.01000	12.10
CONSTR	UCTION SIGNS	SF						
0018	159015M	1.000	800.00000	800.00	500.00000	500.00	800.00000	800.00
CONSTR SIGN, 4'	RUCTION IDENTIFICAT X 8'	TION U						
0019	159021P	500.000	10.00000	5,000.00	2.15000	1,075.00	0.01000	5.00
CONSTR	UCTION BARRIER CU	RB LF						



Page 3 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) A.E. STONE, INC (2) SOUTH S		STATE INC	(3) ARAWAK I	PAVING CO INC	
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY	Cat Alt Set:		Cat Alt Member:			
0020	159027M	2.000	500.00000	1,000.00	1.00000	2.00	0.01000	0.02
FLASHIN	IG ARROW BOARD, 4'	X 8' U						
0021	159030M	1.000	20,000.00000	20,000.00	9,500.00000	9,500.00	30,000.00000	30,000.00
PORTAB SIGN	BLE VARIABLE MESSA	GE U						
0022	159108M	1.000	15,000.00000	15,000.00	9,500.00000	9,500.00	15,000.00000	15,000.00
_	CONTROL TRUCK WED CRASH CUSHION	ITH U						
0023	159126M	96,000.000	1.00000	96,000.00	2.95000	283,200.00	1.45000	139,200.00
TEMPOR 4"	RARY TRAFFIC STRIPE	ES, LF						
0024	159224M	1.000	5,000.00000	5,000.00	250.00000	250.00	0.01000	0.01
	RARY CRASH CUSHIO ESSIVE BARRIER, TYF NARROW							



Page 4 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	lo / Item ID Description		(1) A.E. ST	ONE, INC	(2) SOUTH	STATE INC	STATE INC (3) ARAWAK PAVING CO IN	
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY	Cat Alt S		Set: Cat		It Member:	
0025 FUEL PF	160004M RICE ADJUSTMENT	1.000 DOLL	6,600.00000	6,600.00	6,600.00000	6,600.00	6,600.00000	6,600.00
0026 ASPHAL	160007M T PRICE ADJUSTME	1.000 ENT DOLL	39,300.00000	39,300.00	39,300.00000	39,300.00	39,300.00000	39,300.00
0027 FINAL C	161003P LEANUP	(1) LS	1,000.00000	1,000.00	1.00000	1.00	0.01000	0.01
0028 CLEARIN	201003P NG SITE	(1) LS	25,000.00000	25,000.00	5,000.00000	5,000.00	3,000.00000	3,000.00
_	302051P GRADED AGGREGA OURSE, VARIABLE ESS	200.000 TE CY	1.00000	200.00	1.00000	200.00	0.01000	2.00
0030 HMA MIL	401009P LLING, 3" OR LESS	153,483.000 SY	3.00000	460,449.00	1.05000	161,157.15	1.95000	299,291.85



Page 5 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) A.E. ST	ONE, INC	(2) SOUTH S	STATE INC	(3) ARAWAK PAVING CO INC	
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0031	401021M	750.000	20.00000	15,000.00	1.00000	750.00	20.00000	15,000.00
HOT MIX REPAIR	ASPHALT PAVEMEN	IT SY						
0032	401027M	32,000.000	5.00000	160,000.00	3.25000	104,000.00	1.50000	48,000.00
POLYME	RIZED JOINT ADHES	SIVE LF						
0033	401030M	40,000.000	0.01000	400.00	0.01000	400.00	0.01000	400.00
TACK CC	DAT	GAL						
0034	401048M	11,239.000	55.00000	618,145.00	77.00000	865,403.00	65.00000	730,535.00
_	ASPHALT 9.5 M 76 E COURSE	Т						
0035	401054M	11,300.000	50.00000	565,000.00	71.00000	802,300.00	62.00000	700,600.00
-	ASPHALT 12.5 M 64 E COURSE	Т						



Page 6 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	o / Item ID		(1) A.E. ST	ONE, INC	(2) SOUTH	STATE INC	(3) ARAWAK I	PAVING CO INC
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0036	401072M	11,000.000	45.00000	495,000.00	64.00000	704,000.00	60.00000	660,000.00
	(ASPHALT 12.5 M 64 EDIATE COURSE	Т						
0037	401108M	145.000	1.00000	145.00	1.00000	145.00	0.01000	1.45
CORE S	AMPLES, HOT MIX T	U						
0038	602210M	25.000	200.00000	5,000.00	400.00000	10,000.00	260.00000	6,500.00
BICYCLE	SAFE GRATE	U						
0039	602213M	1.000	500.00000	500.00	300.00000	300.00	280.00000	280.00
CURB PI	ECE	U						
0040	602214M	29.000	300.00000	8,700.00	300.00000	8,700.00	220.00000	6,380.00
INLET F	ACE PLATE	U						
0041	607081P	1,384.000	10.00000	13,840.00	10.00000	13,840.00	8.50000	11,764.00
9" X 4" H	OT MIX ASPHALT CU	JRB LF						



Page 7 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 **District(s):** S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) A.E. ST	ONE, INC	(2) SOUTH	STATE INC	(3) ARAWAK	PAVING CO INC
	•	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0042	608004P	7,219.000	32.00000	231,008.00	32.00000	231,008.00	39.80000	287,316.20
	ETATIVE SURFACE, HOT MIX ASPHALT,	4"						
0043	609003M	9,184.000	15.75000	144,648.00	15.75000	144,648.00	21.80000	200,211.20
BEAM GU	IIDE RAIL	LF						
0044	609021M	413.000	10.00000	4,130.00	10.00000	4,130.00	10.40000	4,295.20
RUB RAIL	-	LF						
0045	609024M	12.000	2,000.00000	24,000.00	2,000.00000	24,000.00	2,640.00000	31,680.00
FLARED (GUIDE RAIL TERMIN	AL U						
0046	609027M	1.000	2,500.00000	2,500.00	2,500.00000	2,500.00	3,100.00000	3,100.00
TANGENT	Γ GUIDE RAIL TERMI	INAL U						
0047	609039M	11.000	550.00000	6,050.00	550.00000	6,050.00	1,030.00000	11,330.00
BEAM GU	IIDE RAIL ANCHORA	.GE U						



Page 8 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	lo / Item ID Description		(1) A.E. ST	ONE, INC	(2) SOUTH S	STATE INC	(3) ARAWAK PAVING CO INC	
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	ROADWAY		Cat Alt Set:		Cat Alt Member:		
0048 REMOV	609075M AL OF BEAM GUIDE	9,471.000 RAIL LF	1.00000	9,471.00	1.00000	9,471.00	2.25000	21,309.75
0049 TRAFFIC	610003M C STRIPES, 4"	90,000.000 LF	1.00000	90,000.00	0.24000	21,600.00	1.45000	130,500.00
0050 TRAFFIO	610007M C STRIPES, 8"	4,500.000 LF	0.50000	2,250.00	0.48000	2,160.00	0.50000	2,250.00
0051 TRAFFIO	610009M C MARKINGS	1,100.000 SF	3.00000	3,300.00	2.40000	2,640.00	2.50000	2,750.00
0052 RPM, MO LENS	610012M DNO-DIRECTIONAL,	550.000 WHITE U	22.00000	12,100.00	22.50000	12,375.00	23.00000	12,650.00
0053	610018M DNO-DIRECTIONAL, LENS	350.000 U	22.00000	7,700.00	22.50000	7,875.00	23.00000	8,050.00



Tabulation of Bids Page 9 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description: Roote 35 North Books Provide Environment of New York Avenue									
	No / Item ID Description		(1) A.E. STONE, INC		(2) SOUTH	(2) SOUTH STATE INC		(3) ARAWAK PAVING CO INC	
	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001		ROADWAY		Cat Alt Set:		Cat Alt Member:			
0054	610024M	900.000	15.00000	13,500.00	0.01000	9.00	0.01000	9.00	
REMOV	AL OF RPM	U							
0055	610033M	20,500.000	2.00000	41,000.00	0.25000	5,125.00	0.55000	11,275.00	
RUMBLE STRIP		LF							
Section Totals:				\$3,423,101.00		\$3,597,342.30		\$3,665,073.98	



Page 10 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) A.E. STONE, INC		(2) SOUTH STATE INC		(3) ARAWAK PAVING CO INC	
Alt Set / Alt Member	Quantity and Units	Unit Price I	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	CONSTRUCTION	ION ENGINEERING Cat Alt Set:			Cat Alt Member:		
0008 155009M	1.000	25,000.00000	25,000.00	20,000.00000	20,000.00	25,000.00000	25,000.00
FIELD OFFICE TYPE C SET	UP U						
0009 155027M	7.000	2,000.00000	14,000.00	2,000.00000	14,000.00	1,900.00000	13,300.00
FIELD OFFICE TYPE C MAINTENANCE	MO						
Section Totals:			\$39,000.00		\$34,000.00		\$38,300.00



Page 11 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description.	Thrust Description. Recent of North Description Learning Wille Rocks To New York (NV ENGE									
Line No / Item ID Item Description		(1) A.E. STONE, INC		(2) SOUTH STATE INC		(3) ARAWAK PAVING CO INC				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount			
SECTION: 0003	PATING (ROADW	/AY) Cat Alt	Set:	Cat A	It Member:					
0002 152004P	1.000	5,000.00000	5,000.00	4,000.00000	4,000.00	1.00000	1.00			
OWNER'S AND CONTRACT PROTECTIVE LIABILITY INSURANCE	OR'S DOLL									
0003 152015P	1.000	1.00000	1.00	1.00000	1.00	100.00000	100.00			
POLLUTION LIABILITY INSU	JRANCE DOLL									
Section Totals:			\$5,001.00		\$4,001.00		\$101.00			



Page 12 of 40

Contract ID: 14157 **Counties:** CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	lo / Item ID Description		(1) A.E. ST	ONE, INC	(2) SOUTH	STATE INC	(3) ARAWAK PAVING CO INC	
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 EROSION CO			NTROL	Cat Alt	Set:	Cat A	It Member:	
0011	158027M	525.000	1.00000	525.00	0.01000	5.25	5.00000	2,625.00
INLET F	ILTER TYPE 1	SF						
0012	158063P	(1)	1.00000	1.00	500.00000	500.00	0.01000	0.01
CONCR	ETE WASHOUT SYST	EM LS						
0013	158072M	1.000	1,000.00000	1,000.00	200.00000	200.00	0.01000	0.01
OIL ONL TYPE 1	Y EMERGENCY SPILI	LKIT, U						
Secti	ion Totals:			\$1.526.00		\$705.25		\$2,625,02



Page 13 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	act Boodilption.	110012 00 1101111	THE COND TROUBLE TWINTO WILLE TO THE WITCH THE TOTAL CONTROL							
	lo / Item ID Description		(1) A.E. ST		ONE, INC (2) SOUTH S		(3) ARAWAK PAVING CO INC			
	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTIO	N : 0005	GENERAL LAN	IDSCAPE	Cat Alt	Set:	Cat A	It Member:			
0056	804006P	3,000.000	5.00000	15,000.00	1.00000	3,000.00	0.10000	300.00		
TOPSOI	LING, 4" THICK	SY								
0057	806006P	3,000.000	1.00000	3,000.00	0.15000	450.00	0.10000	300.00		
FERTILI A-3	ZING AND SEEDING	S, TYPE SY								
0058	809006M	3,000.000	1.00000	3,000.00	0.01000	30.00	0.10000	300.00		
FIBER M	IULCHING	SY								
Secti	on Totals:			\$21.000.00		\$3,480.00		\$900.00		



Page 14 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description.	NOOTE 33 NONT	IDOUND I NOW	LEAMINO MILL	NOAD TO NEW	TORKATENOL	-	
Line No / Item ID Item Description		(1) A.E. ST	ONE, INC	(2) SOUTH S	STATE INC	(3) ARAWAK F	PAVING CO INC
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006	STRUCTURE	NO. 0609-157	Cat Al	t Set:	Cat A	It Member:	
0059 609004M	269.000	88.00000	23,672.00	88.00000	23,672.00	110.00000	29,590.00
BEAM GUIDE RAIL, BRIDGE	LF						
Section Totals:			\$23,672.00		\$23,672.00		\$29,590.00



Page 15 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Booonplion	110012 00 1101111	IDOOND I KOM		TO TO THE TO	. OIKIK / KV EI VOE		
Line No / Item ID Item Description		(1) A.E. ST	ONE, INC	(2) SOUTH S	STATE INC	(3) ARAWAK I	PAVING CO INC
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0007	STRUCTURE	NO. 0609-159	Cat Alt	t Set:	Cat A	It Member:	
0060 609004M	267.000	88.00000	23,496.00	88.00000	23,496.00	110.00000	29,370.00
BEAM GUIDE RAIL, BRIDGE	LF						
Section Totals:			\$23,496.00		\$23,496.00		\$29,370.00



Page 16 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Booonption.	110012 00 1101111	IBOUIND I ITOM	LE/ (IVIII 10 IVIILE	TO THE TO	1 OTAL TABLE		
Line No / Item ID Item Description		(1) A.E. ST	ONE, INC	(2) SOUTH S	STATE INC	(3) ARAWAK I	PAVING CO INC
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0008	STRUCTURE	NO. 0609-161	Cat Al	t Set:	Cat A	It Member:	
0061 551045M	6.000	390.00000	2,340.00	1,000.00000	6,000.00	670.00000	4,020.00
PARAPET MODIFICATIONS	LF						
Section Totals:			\$2,340.00		\$6,000.00		\$4,020.00



Tabulation of Bids Page 17 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description.	NOUTE 33 NOITH	IDOUND I NOW	LEAMINO MILL	NOAD TO NEW	IONINAVENUE	-	
Line No / Item ID Item Description		(1) A.E. ST	ONE, INC	(2) SOUTH S	STATE INC	(3) ARAWAK F	PAVING CO INC
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0009	STRUCTURE	NO. 0609-162	Cat Al	t Set:	Cat A	It Member:	
0062 609004M	420.000	88.00000	36,960.00	88.00000	36,960.00	110.00000	46,200.00
BEAM GUIDE RAIL, BRIDGE	LF						
Section Totals:			\$36,960.00		\$36,960.00		\$46,200.00



Page 18 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Bocompaion.	110012 00 1101111	IBOUIND I ITOM		INONE TO HEN	1 OTAL TABLE		
Line No / Item ID Item Description		(1) A.E. ST	ONE, INC	(2) SOUTH S	STATE INC	(3) ARAWAK I	PAVING CO INC
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0010	STRUCTURE	NO. 0609-164	Cat Al	t Set:	Cat A	It Member:	
0063 609004M	298.000	88.00000	26,224.00	88.00000	26,224.00	110.00000	32,780.00
BEAM GUIDE RAIL, BRIDGE	LF						
Section Totals:			\$26,224.00		\$26,224.00		\$32,780.00



Page 19 of 40

Contract ID: 14157

Counties: CUMBERLAND

Letting Date: March 05, 2015

District(s): S1

Call Order: 157

Project(s): NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE

Min: Max:

Contract 2000 inplication	110012 00 1101111	15001151110111					
Line No / Item ID Item Description		(1) A.E. ST	ONE, INC	(2) SOUTH S	STATE INC	(3) ARAWAK I	PAVING CO INC
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0011	STRUCTURE I	NO. 0610-150	Cat Al	t Set:	Cat A	It Member:	
0064 551045M	6.000	390.00000	2,340.00	1,000.00000	6,000.00	670.00000	4,020.00
PARAPET MODIFICATIONS	LF						
Section Totals:			\$2,340.00		\$6,000.00		\$4,020.00



Page 20 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description: ROUTE 55 NORTHBOUND FROM LEAMING MILL ROAD TO NEWYORK AVENUE

Line No / Item ID Item Description		(1) A.E. ST	ONE, INC	(2) SOUTH	STATE INC	(3) ARAWAK	PAVING CO INC
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0012	STRUCTURE I	NO. 0610-151	Cat Alt	Set:	Cat A	It Member:	
0065 551045M	6.000	390.00000	2,340.00	1,000.00000	6,000.00	670.00000	4,020.00
PARAPET MODIFICATIONS	LF						
Section Totals:			\$2,340.00		\$6,000.00		\$4,020.00
Cor	tract Totals		\$3,607,000.00		\$3,767,880.55		\$3,857,000.00
Cost F	Plus Time Totals		\$3,607,000.00		\$3,767,880.55		3,857,000.00

() indicates item is bid as Lump Sum

Page 21 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Line No			(4) RICHARD CONSTR					
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0001	151006M	1.000	24,500.00000	24,500.00				
PERFORM PAYMENT	ANCE BOND AND BOND	DOLL						
0004	153003P	(1)	25,000.00000	25,000.00				
PROGRES	S SCHEDULE	LS						
0005	153006P	3.000	0.01000	0.03				
PROGRES	S SCHEDULE UPD	ATE U						
0006	153012P	1,300.000	0.01000	13.00				
TRAINEES		HOUR						
0007	154003P	(1)	450,000.00000	450,000.00				
MOBILIZAT	ΓΙΟΝ	LS						
0010	157004M	1.000	50,000.00000	50,000.00				
CONSTRU	CTION LAYOUT	DOLL						



Page 22 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Line No / Item Des			(4) RICHARD E PIERSON CONSTR CO INC					
Alt Set /	Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	: 0001	ROADWAY		Cat Alt	Set:	Cat Alt Member:		
0014	159003M	25.000	0.01000	0.25				
BREAKAW	AY BARRICADE	U						
0015	159006M	80.000	0.01000	0.80				
DRUM		U						
0016	159009M	200.000	0.01000	2.00				
TRAFFIC C	ONE	U						
0017	159012M	1,210.000	10.50000	12,705.00				
CONSTRUC	CTION SIGNS	SF						
0018	159015M	1.000	800.00000	800.00				
CONSTRUC SIGN, 4' X 8	CTION IDENTIFICAT 8'	TION U						
0019	159021P	500.000	50.00000	25,000.00				
CONSTRUC	CTION BARRIER CU	IRB LF						



Page 23 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	o / Item ID escription	(4) RICHARD E PIERSON CONSTR CO INC						
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0020	159027M	2.000	500.00000	1,000.00				
FLASHIN	IG ARROW BOARD, 4'	X 8' U						
0021	159030M	1.000	3,500.00000	3,500.00				
PORTAB SIGN	LE VARIABLE MESSA	GE U						
0022	159108M	1.000	5,000.00000	5,000.00				
_	CONTROL TRUCK WED CRASH CUSHION	TH U						
0023	159126M	96,000.000	0.20000	19,200.00				
TEMPOR 4"	ARY TRAFFIC STRIPE	S, LF						
0024	159224M	1.000	10,000.00000	10,000.00				
	ARY CRASH CUSHIOI ESSIVE BARRIER, TYP IARROW							

Page 24 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	ROADWAY	Cat Alt Se		: Set:	et: Cat Al		
0025	160004M	1.000	6,600.00000	6,600.00				
FUEL PF	RICE ADJUSTMENT	DOLL						
0026	160007M	1.000	39,300.00000	39,300.00				
ASPHAL	T PRICE ADJUSTME	NT DOLL						
0027	161003P	(1)	1,000.00000	1,000.00				
FINAL C	LEANUP	LS						
0028	201003P	(1)	50,000.00000	50,000.00				
CLEARI	NG SITE	LS						
0029	302051P	200.000	20.00000	4,000.00				
	GRADED AGGREGAT DURSE, VARIABLE ESS	E CY						



Page 25 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

00	ract Description.	KOUTE 33 NOKTTI	DOUND I ROW		NOND TO NEV	VI OITITATE LINE	-	
	o / Item ID escription		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0030	401009P	153,483.000	3.25000	498,819.75				
HMA MIL	LING, 3" OR LESS	SY						
0031	401021M	750.000	35.00000	26,250.00				
HOT MIX REPAIR	ASPHALT PAVEM	ENT SY						
0032	401027M	32,000.000	0.50000	16,000.00				
POLYME	RIZED JOINT ADHI	ESIVE LF						
0033	401030M	40,000.000	0.01000	400.00				
TACK CO	DAT	GAL						
0034	401048M	11,239.000	78.00000	876,642.00				
	ASPHALT 9.5 M 76 E COURSE	5 Т						
		·		·				



Page 26 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Set / Alt M	lember (Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0035 4010)54M	11,300.000	75.00000	847,500.00				
HOT MIX ASPH SURFACE COU		Т						
0036 4010)72M	11,000.000	72.00000	792,000.00				
HOT MIX ASPH INTERMEDIATE		Т						
0037 4011	M80	145.000	90.00000	13,050.00				
CORE SAMPLE ASPHALT	S, HOT MIX	U						
0038 6022	210M	25.000	325.00000	8,125.00				
BICYCLE SAFE	GRATE	U						
0039 6022	213M	1.000	400.00000	400.00				
CURB PIECE		U						

Page 27 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0040	602214M	29.000	300.00000	8,700.00				
INLET F	ACE PLATE	U						
0041	607081P	1,384.000	15.00000	20,760.00				
9" X 4" H	OT MIX ASPHALT CU	JRB LF						
0042	608004P	7,219.000	35.00000	252,665.00				
	SETATIVE SURFACE S HOT MIX ASPHALT							
0043	609003M	9,184.000	18.00000	165,312.00				
BEAM G	UIDE RAIL	LF						
0044	609021M	413.000	10.50000	4,336.50				
RUB RA	L	LF						



Page 28 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	lo / Item ID Description		(4) RICHARD CONSTR					
Alt Se	t / Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0045	609024M	12.000	2,100.00000	25,200.00				
FLARED	GUIDE RAIL TERMINA	L U						
0046	609027M	1.000	2,600.00000	2,600.00				
TANGEN	IT GUIDE RAIL TERMIN	NAL U						
0047	609039M	11.000	580.00000	6,380.00				
BEAM G	UIDE RAIL ANCHORAG	GE U						
0048	609075M	9,471.000	1.00000	9,471.00				
REMOV	AL OF BEAM GUIDE RA	AIL LF						
0049	610003M	90,000.000	0.25000	22,500.00				
TRAFFIC	C STRIPES, 4"	LF						
0050	610007M	4,500.000	0.50000	2,250.00				
TRAFFIC	C STRIPES, 8"	LF						

Page 29 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	o / Item ID escription		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0051	610009M	1,100.000	2.50000	2,750.00				
TRAFFIC	MARKINGS	SF						
0052	610012M	550.000	23.50000	12,925.00				
RPM, MC LENS	DNO-DIRECTIONAL,	WHITE U						
0053	610018M	350.000	23.50000	8,225.00				
RPM, MC AMBER L	DNO-DIRECTIONAL, LENS	U						
0054	610024M	900.000	5.00000	4,500.00				
REMOVA	AL OF RPM	U						
0055	610033M	20,500.000	0.50000	10,250.00				
RUMBLE	STRIP	LF						
Section	on Totals:			\$4,365,632.33				

Page 30 of 40



Contract ID: 14157

Tabulation of Bids

Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(4) RICHARD E PIERSON CONSTR CO INC				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	CONSTRUCTION	ON ENGINEERING	Cat Alt	Set:	Cat A	It Member:	
0008 155009M	1.000	25,000.00000	25,000.00				
FIELD OFFICE TYPE C SET	UP U						
0009 155027M	7.000	3,000.00000	21,000.00				
FIELD OFFICE TYPE C MAINTENANCE	MO						
Section Totals:			\$46,000.00				

Page 31 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0003	NON-PARTICI	PATING (ROADW	/AY) Cat Alt	Set:	Cat A	It Member:	
0002	152004P	1.000	6,000.00000	6,000.00				
-	S AND CONTRACTO CTIVE LIABILITY NCE	OR'S DOLL						
0003	152015P	1.000	12,000.00000	12,000.00				
POLLUT	POLLUTION LIABILITY INSURANCE DOLL							
Secti	on Totals:			\$18,000.00				

Tabulation of Bids Page 32 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description: ROUTE 55 NORTHBOUND FROM LEAMING MILL ROAD TO NEWYORK AVENUE

	Line No / Item ID Item Description		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 EROSION CO		NTROL Cat Alt		Set:	Cat A	Alt Member:		
0011	158027M	525.000	5.00000	2,625.00				
INLET FIL	TER TYPE 1	SF						
0012	158063P	(1)	0.01000	0.01				
CONCRE	TE WASHOUT SYSTE	EM LS						
0013	158072M	1.000	500.00000	500.00				
OIL ONLY TYPE 1	Y EMERGENCY SPILL	KIT, U						

Section Totals: \$3,125.01



Page 33 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description: ROUTE 55 NORTHBOUND FROM LEAMING MILL ROAD TO NEWYORK AVENUE

	o / Item ID escription		(4) RICHARD CONSTR					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 GENERAL LA		NDSCAPE Cat Alt		t Set: Cat /		Alt Member:		
0056	804006P	3,000.000	1.50000	4,500.00				
TOPSOIL	ING, 4" THICK	SY						
0057	806006P	3,000.000	0.50000	1,500.00				
FERTILIZ A-3	ING AND SEEDING,	TYPE SY						
0058	809006M	3,000.000	0.25000	750.00				
FIBER MI	ULCHING	SY						

Section Totals: \$6,750.00



Page 34 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description: ROUTE 55 NORTHBOUND FROM LEAMING MILL ROAD TO NEWYORK AVENUE

Line No / Item ID Item Description		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006	STRUCTURE I	NO. 0609-157	Cat Alt	: Set:	Cat A	It Member:	
0059 609004M	269.000	95.00000	25,555.00				
BEAM GUIDE RAIL, BRIDGE	LF						

Section Totals: \$25,555.00



Page 35 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description: ROUTE 55 NORTHBOUND FROM LEAMING MILL ROAD TO NEWYORK AVENUE

Line No / Item ID Item Description		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0007	STRUCTURE I	NO. 0609-159	Cat Alt	Set:	Cat A	It Member:	
0060 609004M BEAM GUIDE RAIL, BRIDGE	267.000 LF	95.00000	25,365.00				

Section Totals: \$25,365.00



Page 36 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description: ROUTE 55 NORTHBOUND FROM LEAMING MILL ROAD TO NEWYORK AVENUE

Line No / Item ID Item Description		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0008	STRUCTURE I	NO. 0609-161	Cat Alt	: Set:	Cat A	It Member:	
0061 551045M	6.000	400.00000	2,400.00				
PARAPET MODIFICATIONS	LF						

Section Totals: \$2,400.00



Page 37 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description: ROUTE 55 NORTHBOUND FROM LEAMING MILL ROAD TO NEWYORK AVENUE

Line No / Item ID Item Description		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0009	STRUCTURE NO. 0609-162		Cat Alt Set:		Cat A	It Member:	
0062 609004M	420.000	95.00000	39,900.00				
BEAM GUIDE RAIL, BRIDGE	LF						

Section Totals: \$39,900.00

Page 38 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description: ROUTE 55 NORTHBOUND FROM LEAMING MILL ROAD TO NEWYORK AVENUE

Line No / Item ID Item Description		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0010	STRUCTURE NO. 0609-164		Cat Alt Set:		Cat Alt Member:		
0063 609004M	298.000	95.00000	28,310.00				
BEAM GUIDE RAIL, BRIDGE	LF						

Section Totals: \$28,310.00



Page 39 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description: ROUTE 55 NORTHBOUND FROM LEAMING MILL ROAD TO NEWYORK AVENUE

Line No / Item ID Item Description		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0011	STRUCTURE I	O. 0610-150 Cat Alt Se		: Set:	et: Cat Alt Member:		
0064 551045M	6.000	400.00000	2,400.00				
PARAPET MODIFICATIONS	LF						

Section Totals: \$2,400.00



Tabulation of Bids Page 40 of 40

Contract ID: 14157 Counties: CUMBERLAND

Letting Date: March 05, 2015 District(s): S1

Call Order: 157 **Project(s):** NHP-0003(150)

Contract Time: 10/25/15 COMPLETION DATE Min: Max:

Contract Description: ROUTE 55 NORTHBOUND FROM LEAMING MILL ROAD TO NEWYORK AVENUE

Line No / Item ID Item Description		(4) RICHARD E PIERSON CONSTR CO INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0012	0012 STRUCTURE		NO. 0610-151 Cat Al		Cat Alt Member:		
0065 551045M	6.000	400.00000	2,400.00				
PARAPET MODIFICATIONS	S LF						
Section Totals:	_		\$2,400.00				
Contract Totals			\$4,565,837.34				
Cost Plus Time Totals			\$4,565,837.34				

() indicates item is bid as Lump Sum

1

Page:



Vendor Ranking

Counties: CUMBERLAND

Call Order: 157 Contract ID: 14157

Contract Time: 10/25/15 COMPLETION DATE

Contract Description: ROUTE 55 NORTHBOUND FROM LEAMING MILL ROAD TO NEWYORK Project(s): NHP-0003(150)

District(s): S1

AVENUE

Letting Date: March 05, 2015 10:00 AM

Rank	Vendo	r ID/Name	Total Bid	Percent Of Low Bid
1	S8297	A.E. STONE, INC	\$3,607,000.00	100.00%
2	S6836	SOUTH STATE INC	\$3,767,880.55	104.46%
3	A7242	ARAWAK PAVING CO INC	\$3,857,000.00	106.93%
4	P4195	RICHARD E PIERSON CONSTR CO INC	\$4,565,837.34	126.58%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,